Linear Systems with Random inputs Linear System: A System with functional relationship f {x(t) 3 in linear, if, for any two inputs x,(t) and no (t), the output of the System can be defined as f { (a, x, (t) + a, x, (t) 3 = a, f(x, (t) 3+a, f(x, (t))) where a, and a, are constants Time invariance: Time invariance is defined as a property of linear Systems that if the input is time Shifted by an amount 1. The corresponding output will also be time shipted by the same amount (i.e) if f [n(t)]. = y(t) then f(x(t-z) 3 = y(t-z), - 22 22 8 A system that does not meet the condition is called time Varying System. Linear time invariant system: Show that  $S_{yy}(\omega) = |H(\omega)|^2 \cdot S_{xx}(\omega)$  where  $S_{xx}(\omega)$ and Byy (w) are the power spectral denity Junctions of the input x(t) and the output y(t) and H(w) is the System transfer Junction Paroof: Maria 1, V/L) = (R/U) X(E-U) du.

If the input x(t) and its output y(t) are related by  $y(t) = \int_{-\infty}^{\infty} f(u) \times (t-u) du$ , then the system is linear time invariant system Poroperty: 2 System First, we prove the linearity, consider,  $x(t) = a_1 x_1(t) + a_2 x_2(t)$ .

Then  $y(t) = \int h(u) x(t-u) du$ .  $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$   $= \int_{-\infty}^{\infty} f(u) \left[ \alpha, x, (t-u) + \alpha, x, (t-u) \right] du$ The System is linear Now, we prove that the System is a Replace t by t+K  $y(t) = \int_{-\infty}^{\infty} f(u) \times \int_{-\infty}^{\infty} (t+k) - u \int_{-\infty}^{\infty} du$ = y(t+t)The System is time invariant. Hence the System is linear time invariant System.

```
Peroperty: 3

Ty \{x(t) \ 3 \text{ is a WSS process and } if

y(t) = \int R(u) \times (t-u) du, then R_{xy}(t) = R_{xx}(t) + R(t)
                                                                                                                                                                                  \frac{df}{du} = \int_{-\Delta}^{\Delta} R(u) \times (t-u) du = 0
                                                                                                                                                                                           R_{xy}(z) = E[x(t) Y(t+z)]
                                                                                                                                                                                                                                                                                                                                                                              = E[x(t)] sh(u) x(t+z-u) du]
                                                                                                                                                                          = \int_{-\infty}^{\infty} \int_{-\infty}^
                                                                                                                                                                                                              Rxy(T) = Rxx(T) * h(T) [by convolution]
                                                                                             If \{x(t)\}^2 is a WSS process and if y(t) = \int_{-\infty}^{\infty} R(u) x(t-u) du, then R_{y}(t) = R_{xy}(t) \times R(t-u) where x denotes the convolution.
                                                                                                              c_{in} \quad y(t) = \int_{-\infty}^{\infty} k(u) \ x(t-u) \ du - \int_{-\infty}^{\infty} k(u) \ du
                                                                                                                                                                                Ryy(+1) = E[Ylt) Ylt+7)]
                                                                                                                                                                                                                                                                                                                                                                 Elylt) y(t+7) )

n [ 1 & flu) x(t-u) y (t+z) ] du
```

```
= \int_{a}^{\infty} E \left[ \times (t-u) y(t+\tau) f(u) du \right]
= \int_{a}^{\infty} R_{xy} (7+u) f(u) du
= \int_{a}^{\infty} R_{xy} (7+u) f(u) du
 Put u = -\alpha

du = -d\alpha

= \int_{\alpha} R_{xy} (1-\alpha) R(-\alpha) (-d\alpha)
  = 5 Rxy (7-2) f (-2) dx
           = R xy (7) * R(-7)
 \frac{1}{2} \int_{-\infty}^{\infty} f(u) \dot{x} du \text{ then } S_{xy}(w) = S_{xx}(w) + H(w)
y(t) = \int_{-\infty}^{\infty} f(u) \dot{x} (t-u) du \text{ then } S_{xy}(w) = S_{xx}(w) + H(w)
Paropenty 5
 \frac{P_{700}}{Y(t)} = \int_{0}^{\infty} R(u) \times (t-u) du
  Rxy(t) = E[x(t) y(t+t)]
             = E\left[x(t) \int_{-\Delta}^{\Delta} h(u) \times (t+z-u) du\right]
= \int_{-\Delta}^{\Delta} E\left[x(t) \times (t+z-u) h(u) du\right]
           = J Rxx(7-u) h(u) du
 R_{xy}(z) = R_{xx}(z) * h(z)
Taking Fourier Triangerm
```

## = F[Rxx(T] F[R(T)] Sxy(w) = Sxx(w) H(w) [ by deep of spectrum]

O Show that {x(t) 3 is a WSS process then the output {y(t) 3 is a WSS process.

If the input to a time invariant, Stable linear System is a WSS process, then the output will also be a was process

(i.e) To show that if {x(t) 3 is a wss process then the output {y(t) 3 is a wss process.

WKT the input and output are related by y(t) = S R(u) x(t-u) du - 0

Ely(t) ] = J R(u) Elx(t-u) J du

· Sx(t) } is a wss process, Mean is constant

(i.e) E[x(t-u)] = ConstantHence  $E[y(t)] = E[x'(t-u)] \int_{-\infty}^{\infty} R(u) du$ 

= Xu J h(u) du

= 9 finite constant, independent y t [: System is Stable]

ELY(t)] = contant

Next to ST Ryy(t, b+z) depends only on Z.

```
= E[ ] Sh(u) x(t-u,) h(u,) x(t+z-u,) du, du, ]

[by O]

-: {x(t) gis a WSS process.
    E[x(t-u,) x(t+z-u2)] is a function of Z,
    = a function 9 T

The output {y(t) 3 is also wss process.
(2) Find the Mean square Value of the processes whose power spectral density is as given below.
    w4+10w2+9. To find the Mean ofquare Value
    of the process, we can find its auto Correlation function and Substitute 1=0
  \frac{A}{\omega^{2}+9} + \frac{B}{\omega^{2}+1} = \frac{A(\omega^{2}+1) + B(\omega^{2}+9)}{(\omega^{2}+9)(\omega^{2}+1)}
= \frac{A(\omega^{2}+1) + B(\omega^{2}+9)}{(\omega^{2}+9)(\omega^{2}+1)}
= \frac{A(\omega^{2}+1) + B(\omega^{2}+9)}{(\omega^{2}+9)(\omega^{2}+1)}
     1 = A(\omega^2 + 1) + B(\omega^2 + 9)

Put \omega^2 = -9
```

$$(\frac{1}{\omega^{2}+9})(\omega^{2}+1) = \frac{1}{\omega^{2}+9} + \frac{1}{\omega^{2}+9}$$

$$= \frac{1}{8} \left[\frac{1}{\omega^{2}+1} - \frac{1}{\omega^{2}+9}\right]$$

$$R_{xx}(\tau) \text{ is gowien inverse transform } \frac{9}{8}$$

$$\frac{1}{8} \left[\frac{1}{\omega^{2}+1} - \frac{1}{\omega^{2}+9}\right] - \frac{1}{8} \left[\frac{1}{\omega^{2}+9}\right]$$

$$= \frac{1}{8} \left[\frac{1}{\omega^{2}+1} - \frac{1}{3} - \frac{1}{8} - \frac{1}{3} - \frac{1}{4} - \frac{1}{3} - \frac{1}{4} - \frac{1}{4$$

The unit Step function 
$$U(t) = \int_{1}^{0} \int_{1}^{t \times 0} dt$$

$$R(t) = \int_{e^{-\beta}t}^{0} \int_{t^{-1}}^{t \times 0} dt$$

$$= \int_{e^{-\beta}t}^{0} \int_{e^{-\beta}t^{+1}}^{t \times 0} dt$$

$$= \int_{e^{-\beta}t^{+1}}^{0} \int_{e^{-\beta}t^{+1}}^{0} dt$$

$$= \int_{e^{-\beta}t^{+1}}^{0} \int_{e$$

```
Proof:

The correlation fun: g \times (t) and y(t) is

R_{xy}(t, t+z) = f(x(t)) \times (t+z)  — 

D
       Now, y(t+z) = h(t) \times x(t+z)
                         = 5 h18) x(t+1-8) d2 -0
     Sub @ in @

Rxy(t, t+1) = f[x(t)] h(2) x(t+2-2) d2]
                     = J & [x(t) x(t+z-E)] R(E) dE
     If x(t) is WSS, @ becomes.
           R_{xy}(\tau) = \int_{-\infty}^{\infty} R_{xx}(7-\epsilon) R(\epsilon) d\epsilon
            R_{xy}(z) = R_{xx}(z) + R(z)
     Mily Ryx (Z) = Rxx(Z) * h(-Z).
E consider a System with transfer question -
An input Signal with auto correlation function .
  m 8(2) + m2 is ged as input to the System, find the Mean and Mean square value of the
   input .
          G_{11}H(\omega) = \frac{1}{1+i\omega}

\begin{cases}
R_{\times\times}(z) = m S(z) + m^2 \\
S_{\times}(\omega) = m + 2\pi m^2 S(\omega)
\end{cases}
```

= /11+12) 2 [m+27m3(u)]

WKT Sy(w) = 1 H(w)) 2 Sx(w)

WET 
$$S_{yy}(\omega) = S_{xx}(\omega) | + |\omega| |^2 - 0$$
:

$$S_{xx}(\omega) = \int_{-\infty}^{\infty} P_{xx}(\tau) e^{-i\omega \tau} d\tau$$

$$= \int_{-\infty}^{\infty} e^{-2|\tau|} e^{-i\omega \tau} d\tau$$

$$= \int_{-\infty}^{\infty} e^{-2|\tau|} e^{-i\omega \tau} d\tau + \int_{0}^{\infty} e^{-(2+i\omega)\tau} d\tau$$

$$= \int_{0}^{\infty} e^{(2-i\omega)\tau} d\tau + \int_{0}^{\infty} e^{-(2+i\omega)\tau} d\tau$$

$$= \int_{0}^{\infty} e^{(2-i\omega)\tau} d\tau + \int_{0}^{\infty} e^{-(2+i\omega)\tau} d\tau$$

$$= \int_{0}^{\infty} e^{(2-i\omega)\tau} d\tau + \int_{0}^{\infty} e^{-(2+i\omega)\tau} d\tau$$

$$= \int_{0}^{\infty} (2-i\omega)^{2} d\tau + \int_{0}^{\infty} e^{-(2+i\omega)\tau} d\tau$$

$$= \int_{0}^{\infty} e^{-(2+i\omega)\tau} d\tau + \int_{0}^{\infty} e^{-(2+i\omega)\tau} d\tau$$

$$= \int_{0}^{\infty} e^{-(2+i\omega$$

The discrete nature of electrons causes a Signal disturbance called Shot Noise This noise is due to the gandom motion of free electrons in a conducting Medium Such Thermal Noise: as a resistor. white Noise (or) Craussian Noise

The Noise analysis of communication Systems is based on an idealized yerm of noise called white Noise Power Spectral deniety of thermal Noise:

The Power Spectral density of the noise current due to the free electrons is given by  $S_{i}(\omega) = \left[\frac{2kTG_{\alpha}}{\alpha^{2}+\omega^{2}}\right] = \frac{2kTG_{\alpha}}{1+\left(\frac{w}{a}\right)^{2}}$ where It is the Bottmmann's constant

It is the ambient temperature in degrees kelvin

or is the conductance of the conducting medium Band limited white Noise:

Noise having a non-zero and constant

Proise having a non-zero and constant

spectral density over a finite grequency band

and zero elsewhere is called band limited white Noise (i.e) if [N(t) 3 is a band lineted white noise then  $S_{NN}(w) = \begin{cases} \frac{N_0}{2} & |w| \leq w_B \\ 0 & |elsewhere| \end{cases}$ (F) Consider a white Craussian noise of Zero Mean and Power spectral clonity No/2 applied Mean and Power spectral clonity No/2 applied RC tilter whose transfer function

```
is H(f) = 1 . Find the autocorrelation 1+i2\pi fRC output random process.
\frac{\text{Solo}}{\text{an}} \quad H(\mathbf{f}) = \frac{1}{1 + 127 fR} c
|H(f)|^{2} = \frac{1}{1+i2\pi fRc1} = \sqrt{1+4\pi^{2}f^{2}c^{2}}
|H(f)|^{2} = \frac{1}{1+4\pi^{2}f^{2}c^{2}} = 0
          an S_{xx}(\mathcal{G}) = \frac{N_0}{2} — D [: the input is
          The Power Spectral densities of the input (x1t) 3 and the output [911) 3 9 a linear system are connected by
          S_{yy}(\omega) = |H(\omega)|^2 S_{xx}(\omega) ______ (3)
In the given Problem the transfer function
is expressed interms of the frequency F
         Syy (f) = | H(f) | 2 Sxx (f)
         = \frac{1}{1 + 4\pi^2 f^2 R_c^2} \frac{N_0}{2} \left[ \frac{1}{2} \text{ by } 0 + 0 \right]
          R_{yy}(t) = \frac{1}{2\pi} \int_{0}^{\infty} S_{yy}(P) e^{i\omega t} d\omega
                              = \frac{1}{2\pi} \int_{-\infty}^{\infty} \frac{1}{1 + 4\pi^{2} p \pi^{2} c^{2}} \frac{N_{o}}{2} e^{j2\pi p 2} d(2\pi p)
                         = 1 5 0 17 477 27 2 e 12 17 2 f 2 11 de
                  = \frac{N_0}{2} \int_{\mathcal{L}} \frac{1}{1 + 4\pi^2 p^2 R^2 c^2} e^{i2\pi 7 p} dp
```

$$R_{yy}(\tau) = \frac{N_0}{8\pi^2 R^2 c^4} \int_{-\infty}^{\infty} \frac{e^{iR\tau r}F}{\left(\frac{1}{2\pi Rc}\right)^2 + F} df$$

$$= \frac{N_0}{8\pi^2 R^2 c^2} \frac{1}{\left(\frac{1}{2\pi Rc}\right)} e^{-12\pi r} \left(\frac{1}{2\pi Rc}\right) \int_{-\infty}^{\infty} \frac{e^{imn}}{e^{-1nl}} ds$$

$$= \frac{N_0}{8\pi^2 R^2 c^2} 2\pi Rc e^{-b0\tau l} \left(\frac{1}{2\pi Rc}\right)$$

$$= \frac{N_0}{8\pi^2 R^2 c^2} 2\pi Rc e^{-b0\tau l} \left(\frac{1}{2\pi Rc}\right)$$

$$= \frac{N_0}{8\pi^2 R^2 c^2} 2\pi Rc e^{-b0\tau l} \left(\frac{1}{2\pi Rc}\right)$$

$$= \frac{N_0}{4Rc} e^{-1cl/Rc}$$

$$The Mean Square Value of the square value of t$$

WILT I sind 1 = 0

$$2 \sin^{2}\left(\frac{\omega z}{2}\right) \leq \frac{z^{2}\omega^{2}}{2} \qquad \boxed{0}$$

$$P_{xx}(0) - P_{xx}(\tau) \leq \frac{1}{2\pi} \int_{0}^{\infty} S_{xx}(\omega) \frac{z^{2}\omega^{2}}{2} d\omega$$

$$\leq \frac{z^{2}}{4\pi} \int_{0}^{\infty} S_{xx}(\omega) d\omega$$

$$\leq \frac{z^{2}}{4\pi} \int_{0}^{\infty} S_{xx}(\omega) d\omega$$

$$\leq \frac{z^{2}}{4\pi} \int_{0}^{\infty} S_{xx}(\omega) d\omega$$

$$\leq \frac{z^{2}}{2\pi} \int_{0}^{\infty} S_{xx}(\omega) d\omega$$

The y(t) = A as  $(\omega + 0) + N(t)$ , where A is a constant, O is a mandom variable with a uniform distribution in (-T,T) and  $\{N(t),3\}$  is a band density.

Since  $\{V(t),2\}$  is a power of  $\{V(t),3\}$ .

Since  $\{V(t),4\}$  is a constant density of  $\{V(t),3\}$ .

Assume that  $\{V(t),4\}$  and  $\{V(t),4\}$  is independent.

Solo  $\{V(t),4\}$  is  $\{V(t),4\}$  in  $\{V(t),4\}$  in  $\{V(t),4\}$  in  $\{V(t),4\}$  is  $\{V(t),4\}$  in  $\{V(t),$ 

```
Ryy (t, t+z) = E[Y(t) Y(t+z)]
           = E[A^2\cos(\omega_0+0)\cos(\omega_0t+\omega_0t+0)]
+ A\cos(\omega_0t+0)N(t+1)+A\cos(\omega_0t+\omega_0t+0)N(t)
        + N(t) N(t+z) ]
         = A = E [ cos(wot + a) as (wot + wo 7 + a)]
               + AE[cos (wot +a) N(t+z) J+ AE(cos (wot + wozta)
                + E [ N(t) N(t+2)]
           = A E [ 2 cos(wot + wo1+0) cos (wot +0)]
+ A E [ cos(wot +0) N(t+1)]
              +AELOS (woltworto) N(t)]
             + E[N(t) N(t+z)]
              = A2 Elas (wolt + woz + o + wot +o)
                             + as ( wot + wo 1 +0 -wot -0) ]
                  +A E [ cos (wot + 0) N(t+1)]
+A E [ cos (wot + wo 7+0) N(t)]
                   + E [N(t) N(t+ w)]
               = A Flos (200 t + 20 + 00 Z) + 01 097]
                + A El as (wolt + wo Z + a) JE [N(t+2))
+ A El as (wolt + wo Z + a) JE [N(t)]
                 + RNN(1) [: N(t) is Stationary]
  an o is uniformly distributed in (-T, T)
 : f(0) = \frac{1}{2\pi}, -\pi < 0 < \pi

f(0) = \frac{1}{2\pi}, f(0) = \int_{-\infty}^{\infty} (\omega_0 t + 0) f(0) d0

f(0) = \int_{-\infty}^{\infty} (\omega_0 t + 0) f(0) d0
 =\int_{-\pi}^{\pi}\cos(\omega_{0}t+0)\frac{1}{2\pi}d0
                                   1 1 cm cont coso - sinted & sino Ida.
```

```
= = 1 I cas wot case do - 1 In sinuet sino do
        = i cos vot jano do - i sin vot jano do
   = 1 coscopt 2 5 coso do - 1 sin wat 5 sin o do
         = 1 compt (2) j coso do - 1 sinwet (0)
          = 1 as cot [sino] - 0
  E (\cos(\omega_0 t + \omega_0 z + 0 j = 0) - (3)
E (\cos(\omega_0 t + \omega_0 z + 0 j = 0) - (3)
E (\cos(\omega_0 t + 20 + 20 z)) = \int_{-\pi}^{\pi} \cos(2\omega_0 t + 20 + \omega_0 z) \frac{1}{2\pi} d0
= \frac{1}{2\pi} \int_{-\pi}^{\pi} \cos(2\omega_0 t + 20 + \omega_0 z) d0
= \frac{1}{2\pi} \int_{-\pi}^{\pi} \cos(2\omega_0 t + 20 + \omega_0 z) d0
= \frac{1}{2\pi} \int_{-\pi}^{\pi} \cos(2\omega_0 t + 20 + \omega_0 z) d0
    = \frac{1}{2\pi} \int_{-\pi}^{\pi} \cos(2\omega_0 t + \omega_0 z) \cos 2\omega - \sin(2\omega_0 t + \omega_0 t) \sin 2\theta d\theta
    = \frac{1}{2\pi} \cos(2\omega o t + \omega_0 z) \int_0^{\pi} \cos 2\phi d\phi = \frac{1}{2\pi} \cdot \frac{\sin(2\omega o t + \omega_0 z) \int_0^{\pi} \sin 2\phi d\phi}{\sin(2\omega o t + \omega_0 z)} \sin 2\phi d\phi
= \frac{1}{2\pi} \cos(2\omega_0 t + \omega_0 t) 2 \int_0^{\pi} \cos 2\omega d\phi - \frac{1}{2\pi} \sin(2\omega_0 t + \omega_0 t) 6
               = 1 cos (200t + co, 2) [ sin 20 ]"
            = 1 cos (200t + 007) [sin 20]
                 = 1 cos (200t + 007) Co-0]
          (1) => Ryy (t, E+2) = 42 (e) (wot) + RNN(2)
```

$$S_{yy}(\omega) = \int \int \frac{A^2}{2} \cos \omega_0 z + R_{NN}(z) \int e^{-i\omega z} dz$$

$$= \frac{A^2}{2} \int \cos \omega_0 z e^{-i\omega z} dz + \int R_{NN}(z) e^{-i\omega z} dz$$

$$= \pi \frac{A^2}{2} \int 8(\omega - \omega_0) + 8(\omega + \omega_0) \int + S_{NN}(\omega)$$

$$= \pi \frac{A^2}{2} \int 8(\omega - \omega_0) + 8(\omega + \omega_0) \int + \frac{N_0}{2}$$

$$= \pi \frac{A^2}{2} \int 8(\omega - \omega_0) + 8(\omega + \omega_0) \int + \frac{N_0}{2}$$

$$= \pi \frac{A^2}{2} \int 8(\omega - \omega_0) + 8(\omega + \omega_0) \int + \frac{N_0}{2}$$

$$= \pi \frac{A^2}{2} \int 8(\omega - \omega_0) + 8(\omega + \omega_0) \int + \frac{N_0}{2}$$